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relative CIELAB ( a3 , b% ) diagrams of the four systems: NRS00, SRS00, NRS18, SRS18

CIELAB data LCH?, of maximal coloursM of the four systems: NRS00, SRS00, NRS18, SRS18

Natural reflective system: NRS00 Standard reflective system: SRS00
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Natural reflective system: NRS18
H*a =92 b

Standard reflective system: SRS18
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Natural reflective system: NRS00

" b
Len=0100 92” |cpi g0 0 52)

LCHAW=(50 100 16; LCH?Y=(50 100 26)
a

LCH=(50 100 217) LCH=(50 100 329)L¢
LCHAY=(50 100 272)

Natural reflective system: NRS18
b*

LCH#y=(86.7 77.4 92}

LCH¥, (57 65 52)

ILCH*=(86.7 77.4 16 LCH=(56.7 774 26
at

LCHA=(56.7 77.4 21} 5

LCH=(56.7 77.4 272)

LCHA=(56.7 77.4 329)

Standard reflective system: SRS00
b

LCHM=(50100 90f  LChe y=(50 87 52)

LCH#=(50 100 1 LCH=(50 100 30)
ar
CHy=(50 100 210) LCHAy=(50 100 330)
LCH#=(50 100 270)
Standard reflective system: SRS18
LCH*\=(86.7 77.4 9 b

LCHAW=(56.7 77.4 150
)

LCH*,, (57 68 52)

LCHA=(56.7 77.4 3

CHAy=(56.7 77.4 21}
LCHA\=(56.7 77.4 3

LCHA=(56.7 77.4 270)
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rgb*% \y data of maximal coloursM of the four systems: NRS00, SRS00, NRS18, SRS18

RelativeCIELAB data nchy of maximal coloursM of the four systems: NRS00, SRS00, NRS18, SRS

Natural Reflective system: NRS00
b% 1gbta ) o=t

b3 w0251 10} 0T 19D*3,m,525(1 0.39 0)
robamar L0l o 20

19b*3,m,156~(0 1 0)
19b*3m,16°(0 10 19b*31,26~(1 0 0)
2t
rgb*3 21750 1 1) 79b*3 11,3297(1 0 1) 19b*3 M 217(0 1 1)

rab*3 270 0 1)

Standard Reflective system: SRS00
b v og=(1 1 02T 1063 M 52=(1 0.37 0)
1903 mog=(1 10 =(52-30)1(90-30)
rgb*3,30~(1 0 0
at

T9b*3 M,330~(1 0 )

19b%3m,270 0 1)

Natural Reflective system: NRS18 Standard Reflective system: SRS18
- b rgb*a . 505(1 039 0) - " rgb¥s v 52=(1 0.37 0)
b 110477 19b*3m,575(10.390) b, 11047 1903520 )
oz 1 O T e e R R v ot
rgb: 7(010)
i 19bs w3071 0

ay

rgb*3 11,1620 1 0 19b"3 ,26=(1 0 0
T

a
79b%3 132671 0 1) 19b"3 M 2170 1 1)

rgb3 21701 1) 19b"3,m,336%(1 0 1

%

19b"3M,272~(0 0 1) 19b*3 w2700 0 1)

Natural reflective system: NRS00

" b
nehty=01026) 17" (e _010,10)

Standard reflective system: SRS00
= by
nchy=(0 10,25t nChiy=(0 10,14)

M= .

hehy=(0 10.45) ‘ nety=(0 10,07 "MO 1042 nehy=(0 10.08)
at at

neh=(0 10,60) HEY=(0 1091 nehiy=(010.58) ehy=(0 10.92)

nch’y=(010,76)
Natural reflective system: NRS18
nehy=01.0.26) 47 nehiy=(0 10,14)
nchy=(0 1 0,45). ‘ nchy=(0 10,07)
at
nehy=(0 10,60) nehy=(0 10,91)

nchiy=(0 10,76)

nehiy=(010,75)

Standard reflective system: SRS18
bt
b= d
nehiy=(01025) nchty=(0 10,14)

nehfy=(0 10,42). nehy=(0 10,08)|
t
nehty=(0 10,58) nehy=(0 10,92)

nehyy=(0 10,75)
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BAM-test chart no. ZE19; Colour image reproduction
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Absolute and relative CIELAB data of (N/S)RS00; (N/S)RSIdutput: no change compared to in
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